ICS 4U — PROGRAM 02

Write the program described below. You must first start by understanding the problem. You might
want to consider using Stacks or Queues to store the train carts.

Problem Description

In order to ensure peace and prosperity for future generations, the United Nations is creating the
world’s largest candy. The ingredients must be taken in railway cars from the top of a mountain and
poured into Lake Geneva. The railway system goes steeply from the mountaintop down to the lake, with
a T-shaped branch in the middle as shown below.
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Right now, each of the N ingredients is in its own railway car. Each railway car is assigned a positive
integer from 1 to N. The ingredients must be poured into the lake in the order 1, 2, 3, ..., N but the
railway cars are lined up in some random order. The difficulty is that, because of the especially heavy
gravity today, you can only move cars downhill to the lake, or sideways on the branch line. Is it still
possible to pour the ingredients into the lake in the order 1,2,3,...,N?

For example, if the cars were in the order 2, 3, 1, 4, we can slide these into the lake in order as described
below:
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Input Specification

The first line will contain the number T (1 < T < 10) which is the number of different tests that will be
run. Each test has the form of an integer N (1 < N < 100 000) on the first line of the test, followed by a
list of the N cars listed from top to bottom. The cars will always use the numbers from 1 to N in some
order.

Output Specification

For each test, output one line which will contain either Y (for “yum”) if the recipe can be completed, and
N otherwise.

Sample Input

N WERLr AP RERP WNDPRDN

Output for Sample Input
Y
N



